
Title of Product
Assembly Instructions

www.happybeds.co.uk

Important before assembly:
.

Health & Safety:
.

Read these instructions carefully before assembling or using the product.

Please check the contents of the boxes before attempting to assemble this product. The instructions will 
have a checklist of parts and fittings.

It would be sensible to lay a rug or a carpet on the floor where you intend to assemble the product, to avoid 
scratches and damaging the product or the floor.

Assemble the product as close to its intended final location/room as possible.

Do NOT use any power tools as this may damage the frame.

This product or some parts of this product will be heavy. Please use an assistant when lifting.

Please keep small parts out of reach of children.
Always use on a level, even surface.
DO NOT jump on the product or any of its parts.
DO NOT use this product if any parts are missing, damaged or worn.
DO NOT use this product unless all fixings are secured.

Please keep these instructions for future reference.

      VALENCIA Fabric TV Bed



@

This product or some parts of this product will be heavy. Please use an assistant 
when lifting.

Never drag or push the pieces across a hard or stone floor as this will cause 
damage to the joints. Use a carpet or a rug for extra care.

If you have problems assembling or have damaged or missing pieces, please 
contact us by visiting:

https://www.happybeds.co.uk/customer-service

(Not metal)

These tools are not 
necessary, but may 
help to assemble 

certain parts of the 
product.

Do NOT use any power 
tools as this may 

damage the frame.



2 Hrs

Page 1 of 14200914

VALENCIA TV BED
ASSEMBLY INSTRUCTIONS

Media Tray on Left Side 

Single Size

Double & King Size

Super King Size

Single Size

Double & King Size

Super King Size

Media Tray on Right Side 

of 10 Kg

We cannot be held responsible for any damage caused to the TV, TV cabling or the TV Bed itself due to 
incompatibility of any additional equipment installed by the end-user or due to loose and poorly 

installed cables (see Steps 9 & 10  for examples). 
Please read this Assembly Instruction carefully and follow the recommendations.

Periodically remove dust by using a light vacuum cleaner or if your bed is PU, use a soft damp cloth.

c

Fitted with SMART slimline LED television with a screen size of 32"
If you need to re-place this TV for any reason, the maximum size cannot be larger than
76 x 45 x 8 (WHD cm) 

(3) (4)

(3)

(3)

(4)

(4)



Page 2 of 14

CARTON 1 - HEADBOARD CARTON 2 - FOOTBOARD, RC for TV Lift & Slats

Remote Control
Holster

CARTON 3 - SIDE RAILS, CENTRE BAR CW SUPPORTS LEGS & RC HOLSTER

CARTON 4 - MEDIA TRAY PARTS & ACCESSORY BOX cw  HARDWARE & TV CABLES

(3) Side Rail - With Media Tray （4）Side Rail - Without Media Tray

(5) Centre Support Bar

(6) Centre Support Legs

(7) Media Tray Side Panel - Left   x1 (8) Media Tray Side Panel - Right   x1

(10) Media Tray Support Legs   x2

(11) Wooden Slats

(9) Media Tray Base Panel   x1

King Size             

(12) Single Plastic Caps          (13) Double Plastic Caps

Single Size          
Super King Size   Double Size         

x12
x24

x26
x39

King Size             
Super King Size   

Double Size         x12
x13
x26King Size             

Single Size          

Super King Size   

Double Size         
x24
x24
x26
x26

Super King Size   
Double & King Size        x2Double & King Size         x1

x2 Super King Size   

 

x4

(14)

U   x1  
REMOTE CONTROL FOR 
TV LIFT

NOTE: To raise the TV 
please see Step 8.

(unpacking and 
recovering the RC from 
the transit packaging).

INSIDE HEREv



Flat M8 Washers Allen Key (5mm for M8 bolt)

Bolts M8x30mm for fitting 
Media Tray to side rail (3)

Plastic Barrel Nuts for 
assembling Media Tray panels 

A  x16

Bolts M8x30mm for
fitting side rails (3&4) to 
headboard & footboar d (1&2) 

F

K

Bolts M6x40mm for
fitting centre support leg 
(6) to centre support bar (5)

A  x6 L  x4 M  x4

B  x16 D  x1C

Hardware Pack for Bed Assembly

Hardware Pack for Media Tray Assembly

Spring M8 Washers

Flat M6 Washers 

G H

Spring M6 Washers

C  x4

Allen Key (4mm for M6 bolt)

J  x1

Screws (5x50mm) for 
assembling Media Tray panels

Aerial Lead
4 mt Cable Clips

Mains Power
Lead 3mt Cable Ties

User Guide for TV

SMART TV
USER GUIDE

Note：Please keep this user guide saft as you may need it in the future.

N  x1 P  x2 Q  x1 R  x3 S  x3

HDMI Leads
2.8mt  

TV Cables & Accessories

The following items are in the accessory box, inside Carton 4

V  x1 W  x1

Flat M8 Washers for fitting 
to Media Tray M8 Bolts

E  

Bolts M8x20mm for fitting 
Centre Bar (5) and L metal 
bracket (R) 

TV Remote Control

Double & King Size   x2         
Super King Size        x4   

Metal Bracket 
for fitting to centre bar (5)

Double & King Size   x2         
Super King Size        x4   

Double & King Size   x2         
Super King Size        x4   Super King Size         x12

Double & King Size   x  6 Double & King Size   x2         
Super King Size        x4   

Super King Size        x28
Double & King Size   x22
Single Size                x16

Page 3 of 14

a  x1

Spanner for TV VESA Bolts



Page 4 of 14

1 A x8 B x8

C x8
1

2

A
B C

10mm

5

6

6E
D

K

F
J

G
H

C

2

E

K

C D x1

F G

HJ x8

Double & King Size      x2   

Super King Size   x4
Double & King Size      x2   

Super King Size   x4

Double & King Size    x2   

Super King Size   x4

Double & King Size      x2   

Super King Size   x4

Double & King Size      x2   

Super King Size   x4

Double & King Size      x2   

Super King Size   x4

If Single size was purchased choose which side to fit the media tray then go straight to Step 3A. 
If Double or King size was purchased please assemble centre support bar shown in this Step.
If Super King size was purchased, please assemble centre support bar shown in this Step TWICE.



Page 5 of 14

3

3a

A x8 B x8

C x8

D x1

3

3

3

3

4

4

4

1 &2

1 & 2

5

3&4

ABC D

90%

EC D x1

Make certain the bed is squared up 
as shown in the diagram then 

tighten all bed assembly bolts 100%. 

E
D

C

Choose which side
to fit the Media Tray

Fit the Centre Bar(s) carefully,  
do not scratch the fabric. 

Double & King Size 

Double
King 
Super King Size 

Single Size 

If you purchased Single size only, make certain the bed is square, then tighten the bolts 100%.

Super King Size   

Double & King Size   x4

x8

Double & King Size   x4 

Super King Size   x8

Super King Size   

4



Page 6 of 14

5

6

A x2 D x1

Mx4

Ax2

180°

L x4

M x4

9

10

10

7

8

MIMPORTANT: 
MAKE SURE WHEN FITTING 

THE BARREL NUTS THAT 
THE HOLE IS IN CORRECT 

ALIGNMENT WITH THE 
HOLE IN THE PANEL EDGE.

Lx4

A D
C

A x4 D x1C x4



Page 7 of 14

7

iv. Press the “UP” button to raise the TV lift.

Connect Main Power Lead (N) 
to your wall socket - for safety, 
this must be an earthed supply.

Pull the red string and withdraw the TV plug from the duct then 
push plug into the power socket. Please do do not use this 
socket for any other equipment, it does not have a constant 

power supply.

i. Open the footboard lid.

Take out the transit 
packaging material.

ii.

v. Carefully remove all transit packing and 
television screen protective cover and dispose of 
responsibly.

Recover Remote Control (U) 
from rear of the packaging.

iii.

8 Recover the TV Lift Remote Control from the transit packing



PLUG IN - KEEP ALL CABLES TIGHT 
USE CLIPS & TIES PROVIDED.

Keep wires tight - peel off 
cover from cable clips & 
adhere to back of TV. 

R
S

Page 8 of 14

9 FEED THE HDMI CABLES THOUGH THE DUCT & CONNECT TO TV

Use Clips (R)
to keep cables
taught 

Only if WiFi reception needs to be improved, unclip antenna & raise 
as shown in the picture. Do not allow antenna to lean backwards or 

it shall get trapped & break off.



Page 9 of 14

IF YOU NEED TO CONNECT THE AERIAL CABLE (Q), OR ANY 
OTHER MEDIA CABLES TO THE SOCKETS UNDERNEATH 

THE TV, PLEASE FOLLOW THESE INSTRUCTIONS .

10

a  x11) Unplug TV from it's power socket.
2) Loosen the x4 VESA bolts using spanner (a),

there is no need to remove these completely.
3) Lift TV off the brackets and hold it safely.

P

11 Fit the CABLES TO THE SOCKETS

 1: Headphone jack
 2: Network cable interface
 3: AV1 channel interface (composite video/audio left/audio right)
 4: AV2 channel interface (composite video/audio left/audio right)
 5: AERIAL SOCKET (receives DVB-T signal/ATV signal)

1 2

3 4

5



Page 10 of 14

12

13

a  x1

a

Carefully re-fit the TV making certain there 
are no trapped cable and then re-tighten the 
four VESA bolts, please do not over-tighten.

Q
Q

P



Page 11 of 14

14

U Press the “DOWN” button 
to lower the TV lift. 

Q

U

(14)

V

Fit RC holster to 
left or right side.

15



Page 12 of 14

16

11 11

11

11

5

3 & 4

3 & 4

11
5

3 & 4

1212

11 11 11 11 1212 13

11 11 11 11 1212 13 11 1113

Single Size

Double or King Size

Super King Size

Fix single plastic caps to each end of 
each slat then place on the slat 
support rails on both of the side-rails. 
Align the lugs and tap gently with a 
light hammer.

Fit double plastic caps to a pair of 
slats then fix single plastic caps to 
each end. Place the set onto centre 
support bar & slat support rails on 
both side-rails. Align the lugs & tap 
gently with a light hammer.

Fit double plastic caps to both 
ends of one slat. Fix one single 
cap to ends of two more slats 
then lay on the centre bars and 
slat support rails on both of the 
side-rails and assemble the set 
together. Align the lugs & tap 
gently with a light hammer.



Overall Dimensions (WxLxH cm) Internal Dimensions (WxL cm)

  92.5 x 193
137.5 x 193
152.5 x 203
183.5 x 203

SINGLE:   99.5 x 220.5  x 116.2/80.2
DOUBLE: 
KING:  

144.5 x 220.5  x 116.2/80.2 
159.5 x 230.5  x 116.2/80.2 

SUPER KING: 190.5 x 230.5  x 116.2/80.2

Media Tray Dimensions
  All Bed Sizes: 88.5 x 34.7 x 12.8

S 99.5     
  D 144.5 

K 159.5   S
K 190.5

14.5

3

80.2

85

10.5

2.2

32

116.2

10

16

S & D   220.5
K & SK 230.5

 (WDH cm)

①. Disconnect all mains electric power to the bed, for at least 60 seconds.
②. Press UP or DOWN Button on Remote Control and keep holding button down,

simultaneously re-connect mains electric power to bed keeping button down for at least
a further 5 seconds. TV Lift unit receives signal from Remote Control and lift will begin
to move UP or DOWN whichever direction is appropriate.

③. Re-connection is now completed.

Occasionally you may find the radio wave connection between remote control and TV Lift is lost, 
probably due to atmospheric conditions. In that case please follow these simple instructions:

Page 13 of 14



Page 14 of 14

TV BED SAFETY INFORMATION  

GENERAL INFORMATION
It is very important not to place any vessel containing liquids, e.g. drinks or vase of flowers on top of the TV footboard 
that may accidentally spill and enter the TV compartment as this could cause damage to the TV and/or the TV lifting 
equipment. If this happens turn off the power and contact your retailer. 
Do not expose the bed to an undue level of heat - keep away from radiators. 
Never allow anyone to sit on the foot end of the bed - keep children well away from moving parts.
To keep your bed clean, we recommend that it be wiped over with a slightly dampened cloth or if fabric, use a light vacuum 
cleaner; disconnect power before cleaning. 
Supplied with the bed is a remote control to operate the TV Lift and one to operate the TV itself. Both these remotes are
 supplied with batteries that last a reasonable amount of time - there are no batteries in the rest of the equipment. 
When it is time to change the batteries there are strict controls for disposal of the old ones - your local council can advise
on how to safely dispose of them. Never burn batteries on an open fire as they could explode.

IMPORTANT POWER INFORMATION
It is essential that the Mains Power Lead (N) is connected to an earthed socket be it a wall socket or extension lead - 
otherwise there is risk of damage or even electric-shock.
The socket providing the power must be accessible at all times in case you need to switch off the power quickly.
During an electrical or lightening storm - disconnect the power completely as a precaution.
Always un-plug the power when going on holiday or when the bed is not used for an extended period.
If you have young children in the home always disconnect the power at the wall socket for extra safety.
Power outlets, extension leads or adapters must not be overloaded beyond their limit - this can result in fire or electric shock. 
Cables supplied with this bed, or other approved mains powered extension leads used to power your equipment, must not 
be placed where they can be walked on - this is dangerous and could lead to accidents.
Do not interfere with or modify any cables already fitted and do not add any extra media leads unless they are routed 
through the ducts as shown in Step 11. All leads must be tightly connected to back of TV, never hanging loose.
Never touch moving parts or any part of the equipment - if something needs to be checked, disconnect the power first.
Do not insert anything into the footboard as this could seriously damage the TV and/or the TV lifting equipment and could, if 
done carelessly, cause serious damage or injury.
If the equipment doesn't operate normally or if there is any unusual noises, disconnect the power. 

TELEVISION INSTALLATION
Before fixing the slats to the bed, please follow the instructions   below.
Carefully remove any transit protection material from inside the footboard of the bed (2).
Raise the TV Lift by pressing the TOP button of the remote control. The bed
comes with a 32" SMART TV already fitted, read the User Guide carefully (W).
Connect the TV Power Lead by feeding plug down the duct as shown in Step 8 plugging it into the TV power socket which
is on the face of the footboard - see Step 13. 
This socket is only to be used for the TV, this does not have a constant power supply. 
Connect the HDMI cables (P) to TV, as in Step 9.
If required you can connect the aerial or your own Phono cables to the connection board underneath the TV see Step 10.  
Please use the cable clips & cable ties to make certain there are no loose wires to snag or get trapped.
The television can now be operated following the TV User Guide (W). When finished viewing, lower the TV back into the
footboard by pressing DOWN button of the remote control. 

The TV will retract into the footboard automatically - for safety, power shall be turned off to the TV when it reaches reaches 
the bottom rest position.
When the UP button is pressed - the TV Lifting Column rises and power to the TV turns back on automatically.

TROUBLE SHOOTING
If your equipment does not operate please check all the power connections, to the wall socket and that power is 
reaching the mains current socket in the footboard. 
Make sure TV is switched on. (Note: TV will only work when it is in the up position). 
If the television or TV Lift still fails to operate please contact your retailer.

IMPORTANT: Care should be taken when connecting electrical items. If you are in any doubt about the connections 
please consult an approved electrician.  If you still have a problem please contact your retailer for advice. 

U

U

U



www.happybeds.co.uk

General Care & Maintenance

Please dispose of all packaging safely.

Wipe clean with a slightly damp cloth.
Avoid the use of all household cleaners and abrasives.

Periodically check all screw & fixings to ensure they are secure.
When moving your product, carefully lift into place. Never drag or push the pieces across the 
floor as this will cause damage to the joints and could result in failure to the product that will 
invalidate the warranty.

For more information on cleaning and product care visit:
https://www.happybeds.co.uk/help-and-advice

We’ve tried to make this product as easy to assemble as possible. In the unlikely event that 
you have problems putting it together or have damaged or missing pieces, please contact 
us by visiting:
https://www.happybeds.co.uk/customer-service

Notes


